110-052( 067) (1/1)

110-052

cm
10|20
10(20|30
0 10 20 30 40 50 60
E 1.15| 1| 1 2 3
(/| / / 3
1.40 1.40)
NNV = 21|11 32| 1.9 3
\YAVAVAVAY, R =
NNANN 3
\VAVAVAVAY, ]
IAVAVAVAWAY 2.15 } } } §
\YAYAVAVAY]
121317 |30 3

JAYAVAVAWY

\YAVAVAVAY)

ANANAN 3.15 1|24 =
A\YAVAVAVAV | / / / —
IARAYAVAWAY 1 8 12 | 30 4 =
(VAVAVAVAY] 3.45 =
ANANAN =
i =
\VAVAVAVAY] 4.60 [4-15 j =
ANANAN 3
1laf2]3]| 4 =
A\YAVAVAVAV =
NN —z_{4.45 =
(VAVAVAVAY] =
ANANAN =
H o / ]
VAVAVAVAY] 1l2]2]|3]| 4 E
IAYAYAVAWAY 5.45 —
A\YAVAVAVAV
IARAYAVAWAY —
VAV 6.15 4 B
AYAYAVA ] / =
VAVAYAYAY] 1la1f2]3]| 4 =
6.60 5.20\ AN\ 545 3
75| 1|1 2 =
aw; / 3
18 | 13 31| 1.9 =
7.46 =
8.15 4 =
/ =
1laf2]3]| 4 =
8.45 =
8.80 2.2 \ =
O-0-0 =
c0-O- 9.15 33
07070 /
“07 0> 101112 (30] 33
0:070 9.45
[HoRtel
26959 E
~0-0- 34
07070 1015 7 =
10 0. 8 |11]15]|30| 34 =
07070 =
2595C 10.45 =
OéOéO =
O -0-0 11.15 31
- O . O -
000 108 |13[30] 3
aRleX
07070
o RToN

12.10 3.30 - - 12.15 3
101413 [30] 37

13.15 32
R /

13.60| 1.50 13.45

14.15 34
10 |11]13]30]| 34

\
g ANE
/
g

14.60 4,45
50 50
15.15) £ "
115.15} g 8 | 189 N =
15.23 -
50 50 =
16.15| / /
[e-191 o 9 | 167 —_N =
6.24 =
16.70 =
19 | 50 —
17.15 19 1 59 =
13|18 | 8 |28 s3.4 - =
17.43 =
17 | 50 =
18.15 AN =
14 |19 | 4 | 24 |62.9 - 3
18.39 =
19.0 Vi 3
R 119-15 59 10 | 15 RN =
..... 19.25 =
""" | 7 50 =
..... / /
2026 1.+ - - - 20-15) 43 | 1 1 | 13 N

20.26




